

REPUBLIC OF THE PHILIPPINES Department Of Health



National Center for Mental Health

INVITATION TO BID ITB-PA NO. 001-2023

SALE AND DISPOSAL OF ONE (1) "LOT" OF VARIOUS MATERIALS AND **EQUIPMENT CY 2023**

1. Please quote your offer price in the item/s indicated below and submit your proposals printed in your company/firm or your personal letterhead with your name, signature, company name (if any), address and contact numbers. Submit your proposals (format attached), together with the corresponding bid bond (10% of the minimum bid price / bid price offer) in a sealed envelope on the submission of bids on May 26 - 31, 2023 at 1:30 PM at BAC Conference, NCMH Compound, Nueve de Febrero St. Brgy. Mauway, Mandaluyong City. Unsigned proposals below the minimum bid price and those without the corresponding bid bond shall result to disqualification.

ltem No.	Particular	Qty.	UOM	Canvass Amount/Unit	Total Appraised Value
1	Aircondition (Window type)	27	unit	₱916.67	₱24,750.09
2	Aircondition (Split type) Wall Mounted	25	unit	1,100.00	27,500.00
3	Aircondition (Floor Mounted)	2	unit	1,500.00	3,000.00
4	Aircondition (Portable 3kg x 12.67)	2	unit	38.01	76.02
5	Air Purifier (23kg x 12.67)	2	unit	291.41	582.82
6	Anesthesia Machine (40 kg)	1	unit	506.80	506.80
7	Automatic X-ray fil processor (250 x 12.67)	1	unit	3,167.50	3,167.50
8	Bed, Psychiatric (56 kg x 12.67)	163	unit	709.52	115,651.76
9	Bed, Mechanical, 3 Cranks (85 kg x 12.67)	18	unit	1,076.95	19,385.10
10	Bed, Mechanical, 2 Cranks (80 kg x 12.67)	2	unit	1,013.60	2,027.20
11	Blood culture Machine (30 kg x 12.67)	1	unit	380.10	380.10
12	Cabinet, Medicine (30 kg x 12.67)	9	unit	380.10	3,420.90
13	Casette Grid (1 kg x 12.67)	3	unit	12.67	38.01
14	Chemestry Analyzer (60kg x 12.67)	1	unit	760.20	760.20
15	Computer Desktop	17	unit	48.33	821.61
16	Computer Monitor (4kg. X 12.67)	19	unit	48.33	918.27
17	Dental Table (8 kg. x 12.67)	1	unit	101.36	101.36
18	Digital Top Loading Balance (x 12.67)	1	unit	101.36	101.36
19	ECG Machine (3 kg x 12.67)	1	unit	38.01	38.01
20	Electrolyte Analyzer (5kg x 12.67)	1	unit	63.35	63.35
21	Emergency Solar Powered (12kg x 12.67)	6	unit	152.04	912.24
22	Finger Scan (8 KG X 12.67)	3	unit	101.36	304.08
23	Food Conveyor (8KG x 12.67)	1	unit	101.36	101.36
24	Gang Chair (20 kg. x 12.67)	11	unit	253.40	2,787.40
25	Hand Piece (.20 kg x 12.67)	1	unit	2.53	2.53
26	Industrial Fan (30 kg x 12.67)	2	unit	380.10	760.20
27	Ladder (9 kg x 51.67)	2	unit	465.03	930.06
28	Laptop (2 KG * 12.67)	2	unit	25.34	50.68
29	Microbial Identification System (12.67 x 6)	1	unit	76.02	76.02
30	Printer (4.5 kg. x 9.00)	24	unit	40.50	972.00
31	Projector (5kg. X 12.67) "There is no Health without	1	unit	63.35	63.35







OTAL					₱275,429.44
49	Voult (6 kg. x 12.67)	<u>5</u>	unit	76.02	380.10
48	VEHICLE, Toyota Tamaraw FX, Motor No. 7K 0196717 (2,100 x 12.67)	1	unit	26,607.00	26,607.00
47	VEHICLE, Mitsubishi Adventure GLX, Model 1988 (2,300 x 12.67)	1	unit	29,141.00	29,141.00
46	Water Dispenser (6 kg. x 9.00)	4	unit	54.00	216.00
45	Washing Machine (14 kg x 12.67)	8	unit	177.38	1,419.0
44	Typewriter (6 kg x 12.67)	<u>6</u>	unit	76.02	456.1
43	Treadmill (14kg x 12.67)	4	unit	177.38	709.5
42	Transformer-AVR (60KG x 12.67)	1	unit	506.80	506.8
41	Television (3 kg x 12.67)	9	unit	38.01	342.0
40	Suction Machine (5kg x 12.67)	1	unit	63.35	63.3
39	Storage cabinet, Metal Sheet(15 kg x 12.67)	1	unit	190.05	190.0
38	Stretcher (4 kg x 12.67)	18	unit	50.68	912.2
37	Stereo (10 1/2 kg x 12.67)	3	unit	133.04	399.1
36	Sound system (9 kg x 12.67)	1	unit	114.03	114.0
35	Sewing Machine (6kg x 12.67)	2	unit	76.02	152.0
34	SERVER, CPU (Dual Core Xeon or Higher Processor, Xitrex server & Intel Nuc6isyh mini PC NUC kit) (12 kg. x 12.67)	3	unit	152.04	456.1
33	Refrigerator (12 kg. x 9.00)	13	unit	108.00	1,404.0
32	Operating light (45 kg x 12.67)	3	unit	570.15	1,710.4

	B. Various Semi-Expendables made of Plastic	Est. Qty.	UOM	Canvass Amt/Kilo	Total Appraised Value
1	Semi expendables made of plastic consist of: Adult Aneroid(513), Air Humidifier (2), Ambu bag (6), Basin 24" (57), Plastic Bed (118), Single Bed(11),Bed headboard (1), Blood Glucos monitoring (23), Bottle Polycarbonate (31), Calculator (18), Computer keyboard (18), Computer mouse (12), Crates (1), Digital infrared Thermometer (187), Digital thermometer (132), Digital BP apparatu (2), Dipper (3), Acrylic Box (1) Acrylic Holder (1) Disinfectant Sprayer (11), D-link (1), Domino plastic (1), Dringking Jar (3), Plastic Drum (1), Pail (63), Table monobloc (5) Chair monobloc (268) Sinocare Thermal Scanner (16), Fax Machine (2), Fixer Container (1), Calculating Machine (1), Binding machine (1) Flash drive (19), Food Container (30), Food keeper (220), Head Board (10), Knap Sack sprayer (1), Male urinal (5), Manual Resusitator (2), Mop Squeezer (79),Multi purpose tray (3), Nebulizer (7), Needle Burner (2), Oxygen Regulator,(199) Picher (104), Water Container (20), Plastic Dringking glass (3), Plastic plates (964), Soup case (10), Pulse oximeter (121) Rolling bin (103), Ruler (2), Saucer (202), Strainer (1), Stethosecope (16), Telephone (24), Trash bin (102), Tray Holder (1), Utility Can (174), UPS(4), Water jug (181) Flash light (5), Foot Dispenser (3), UVC Gercimidal Lamp (1), Stackable Crate (1)	950	kg.	₱9.00	₱8,550.00

C. Various Semi-Expendables made of Iron and Steel	Est. Qty.	UOM	Canvass Amount / Kilo	Total Appraised Value
Semi expendables made of iron and steel constants AVR (23), Badge (2), Badminton Racket (2), Bas Ring (10), Bed steel (5),BP Stand (6), Butcher Knif Steel cabinet (19), Cash Box (1), Chair clerical Executive chair (37), Conference chair (12), Cross bla (3), Cutter (2), Pliers (19), Sprayer (13), DVD (3), Die Electric Fan (408), Emergency Light (51), Water Ta White Board (6) Folding Chair (5), File binder (37) File Bed (9), Garden Tools (2), Gun Tacker (2), Bolt Cut Bench Grinder (1) Hacksaw (2), High Chair (2), IV (25), Jigsaw (3), Hair Clipper (1) Knife bow (1), Foldi (14), Long Nose (1), Metal Hanger (40), Mixed Mountain bike (1), Oven Toaster (2), Padlock (274), Supply (2), Puncher (90), Push cart (2), Sharpene Shovel (2), Stapler (80), Steel bench (12), Steel Be Surgical Scissor (6), VCD Player (1), Wrench (1), E Thermos (2) TP link (1), Type writer table(4), Vide (1), Vise Grip (1), Weighing Scale (30), Wheel Chair Computer Chair, (6), Forcep (8), Metal trash bin (4)	ketball e (16), (146), de #32 rill (2), nk (1), olding rer (1), Stand ng bed err (1), Power r (11), ox (1), lectric o Card	kg.	₱12.67	₱27,874.00

	D. Waste Materials		UOM	Canvass Amount / Kilo	Total Appraised Value
1	Waste Materials consist of: Steel bar, Steel angular Bar, Radiator, Fan motor, C Farlins, Steel Door, Scrap Metals, Steel window, Roof Rain Cap. Steel Door	5,800	kg	12.67	73,486.00
2	Waste Material consist of Zinc roof (Yero)	3,800	kg	5.50	20,900.00
Tota	ıl	•			₱94,386.00

MINIMUM BID PRICE at the Value of PESO is FOUR HUNDRED SIX THOUSAND TWO THIRTY-NINE PESOS AND 44/100 ONLY (Php406,239.44).

- 2. Bidding documents may be obtained by interested bidders on May 26 30, 2023 (Monday to Friday, 8:00 AM 4:00 PM) from the NCMH DISPOSAL COMMITTEE Secretariat, Procurement Section, NCMH Compound, Nueve de Pebrero St., Mauway, Mandaluyong City. It may also be downloaded from the National Center for Mental Health website.
- 3. Prospective bidders are encouraged to do site inspection of the above- mentioned items stored within NCMH compound before submitting your bids. Schedule of the site inspection shall be coordinated with the Material Management Section (MMS) Staff. The sale of the properties shall be on "AS IS, WHERE IS" basis. The winning bidder shall take possession of the awarded unserviceable equipment and materials with the assistance from MMS Office.
- 4. The NCMH DISPOSAL COMMITTEE will hold a Pre-Auction/Pre-Bid Conference on May 26, 2023, 9:00AM (Friday) at BAC Conference of National Center for Mental Health, which shall be open to prospective Bidders.
- 5. Bids must be duly received by the BAC Secretariat through manual submission at the office indicated below. Late bids shall not be accepted.

- 6. The NCMH-Disposal Committee reserves the right to reject any or all bids, to waive any formality therein, or accept the bid proposals which in its judgement is most advantageous to the agency. Thus, NCMH-Disposal Committee decision on this matter shall be final and binding.
- 7. For further information, please refer to:

NCMH Disposal Committee Secretariat

Nueve de Febrero St. Brgy. Mauway, Mandaluyong City

Tel: 0285319001 loc 239, 241

Telefax: 0285318318

Email: bacnemh@yahoo.com; www.nemh.gov.ph

8. You may visit the NCMH website thru https://ncmh.gov.ph (National Center for Mental Health Official Website)

D 1 (1)

VICTOR GERARDO PUNDAVELA, MD, FPPA, MMHoA

Chairperson - Disposal Committee